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Find the sum or difference.

1. 23 +32 =5x+2)+ (=33 —-6x2+2) 2. (d42—-5x+1)—-(CP+2—3x+ 4)
3. (22 +Tx—=7) - (32 +2x— 1) 4. 2 —6x+4) + (Bx* -2 + 42 + 1)
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Find the product.

9. B3x + 5)(2x + 5) 10. (x — 7)(5x + 3) 11. B3x — 4)(8x — 1)

12. (x + 1)(x® — 2x + 1) 13. (x + 1)(2x% + 3x — 4) 14. 2x — 1)(x* + 3x + 2)
15. 2x + 1)(x2 — x — 3) 16. (—x% + 3)(x2 + 6x — 2)

17. (3 + X2 + 3)(x2 — 4x + 3) 18. (x* = 2x + 1)(x® + x2 — 5)

9. 23 +x)(x* +3x* =222+ 1) 20. (6x + 5)(6x — 5)

o 23. (5x — 2)?
25, (x + 2)° 26. (x — 3)°

27. 2x + 1)} 28. (3x — 5) i 29. (2x + 3y)?
30. (4x — 3y)(4x + 3y) 31. (6x +y)?> 32. (x — 4y)?
Find the product of the binomials.

33. (x +3)x+2)x — 1) 3. (x = 5)(x + 3)(x — 2)
35. 2x + 1)(x + 3)(x + 1) 36. 2x —3)2x —5)(x — 1)

RS Collection The principal source of collections by the IRS inc

can be modele

T = 17:810,103.7141*> + ,629.341 + 1 (Total collected)

C = 18,508,265.4t + 116,419,4 (Corporate income and profit)

E = 23,846,333.7t + 394,945 (Employment)

G = 133,820.257 — 8 ST + 2,915,045.54¢ 28,112.36 (Estate and gift tax)

0 = —948,356, 4,663,117.937 — 1,314,761.71t + 33, 4.86  (Other taxes)

model that represents the individual income and profit taxes / (in tho s of dollars)
1992 to 1996.
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1:
x4+ 32— 2x—3 3. =522+ 5x—6

® o s N

10.
12.
14.
16.
17.
18.
19.
21.
23.
25.
26.
27.
28.
29.
30.
32.
34,
35.
36.
37.

—x*=3x> = 5x + 4

3¢+ 4 —6x+5 B2+ Lk —2
R=5x-3 7. —E3+32 -2+ 1
—32+x—5 9. 622 + 25x + 25
5x2—=32x — 21 11. 24x> — 35x + 4
B=xr=x+1 13.23+5x2—x—-4
23 + 524+ x—-2 15. 2% —x2—Tx — 3
—x*—6x>+ 522+ 18x — 6

X =3 -x¥+6r—-12x+9

X+ =2 -6+ x2+10x -5

2x7 + 6x5 — 3% 4+ 3x* + x  20. 36x2 — 25
X2 =49 22 192 4+ 9 4 95

25x2 = 20x +4 24, x> —3x + 3

X+ 6x2+ 12x + 8

X3 = 9x% + 27x — 27

8x3 + 12x%2 + 6x + 1

27x3 — 135x2 + 225x — 125

8x3 + 36x%y + 54xy2 + 27y3

16x2 — 9y*  31. 36x2 + 12xy + )2

x> —8xy+16y> 33. ¥+ 4x2+x -6
¥ —4x? - 11x + 30

233 +9x2+ 10x + 3

433 — 20x% + 31x — 15

I = 814,536.25* + 4,028,984.35412 +

17,858,746.41t + 560,699,692.4



